AP 1.2 Day 2 Comparing Distributinos

September 12, 2018

(Pood NMorn® oy
\/)\a)/\ UP The Wasw QP

Describing distributions of quantitative data
Brian and Jessica have decided to move and are considering seven different cities. The dotplots below show the
daily high temperatures in June, July, and August for each of these cities.
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1. What is the most important difference between cities A, B, and C?
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2. What is the most important difference between cities C and D?
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3. What is the most important difference between cities D and E?
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4. What is the most important difference between cities C, F, and G?
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Section 1.2

Learning Targets
Last ___; Make and interpret dotplots, stemplots, and
asS T histograms of quantitative data.

" ¢ Identify the shape of a distribution from a graph.
* Describe the overall pattern (shape, center, and
J(D; u:ﬁ variability) of a distribution and identify any major
departures from the pattern (outliers).

* Compare distributions of quantitative data using
dotplots, stemplots, and histograms.
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Describing Distributions
(pages 34-35)

1.
How do we describe a distribution of a
quantitative variable?
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Describe the distribution of goals scored in 20 games
played by the 2016 U.S. women’s soccer team.

Goals scored

Shape: The distribution of goals scored is skewed to the right, with
a single peak at 1 goal. There is a gap between 5 and 9 goals.
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‘Goals scored

Shape: The distribution of goals scored is skewed to the right, with
a single peak at 1 goal. There is a gap between 5 and 9 goals.
Outliers: The games when the team scored 9 and 10 goals appear
to be outliers.
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‘Goals scored

Shape: The distribution of goals scored is skewed to the right, with
a single peak at 1 goal. There is a gap between 5 and 9 goals.
Outliers: The games when the team scored 9 and 10 goals appear
to be outliers.

Center: The median is 2 goals scored.
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i Variability: The number of goals varies from 1 to 10 goals scored.

Shape: The distribution of goals scored is skewed to the right, with
a single peak at 1 goal. There is a gap between 5 and 9 goals.
Outliers: The games when the team scored 9 and 10 goals appear
to be outliers.

Center: The median is 2 goals scored.

Describe the distribution of goals scored in 20 games
played by the 2016 U.S. women’s soccer team.

Did we include
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Shape: The distribution of goals scored is skewed to the right, with
a single peak at 1 goal. There is a gap between 5 and 9 goals.
Outliers: The games when the team scored 9 and 10 goals appear
to be outliers.

Center: The median is 2 goals scored.

Variability: The number of goals varies from 1 to 10 goals scored.
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2.  How many calories in that slice of pizza?

Here are the calories per serving for
16 brands of frozen cheese pizza,
along with a dotplot of the data.

Describe the distribution.
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Shape:

Outliers:
Center:

Variability:
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Comparing Distributions
(pages 36-37)
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We used Census At School’s “Random
Data Selector” to choose 50 students from
each country. Here are dotplots of the
household sizes reported by the survey
respondents. Compare the distributions of
household size for these two countries.
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We used Census At School’s “Random
Data Selector” to choose 50 students from
each country. Here are dotplots of the
household sizes reported by the survey
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respondents. Compare the distributions of
household size for these two countries. ©
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AP® Exam Tip !

0

When comparing distributions of quantitative data, it’s not enough just to

list values for the center and variability of each distribution. You must

explicitly compare these values, using words like “greater than,” “less
than,” or “about the same as.”

Shape: The distribution of household size for
the U.K. sample is roughly symmetric, with a
single peak at 4 people. The distribution of
household size for the South Africa sample is
skewed to the right, with a single peak at 4
people and a clear gap between 15 and 26.
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Outliers: There don’t appear to be any outliers
in the U.K. distribution. The South African .
distribution seems to have two outliers: the -
households with 15 and 26 people.
0 )

Household size
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students tend to be larger (mEdfa"§6 people) el Variability: The household sizes for the South
than for the U.K. students (median 54 people). African students vary more (from 3 to 26
people) than for the U.K. students (from 2 to 6
people).
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. 3.  How many shoes are too many shoes?
How many pairs of shoes does a typical teenager own? To find out, a group of statistics students
. . . . . . surveyed separate random samples of 20 female students and 20 male students from their large high
0 "I‘l |‘|Su| . R school. Here are dotplots of the number of pairs of shoes owned reported by the survey respondents.
eold e Compare the distributions of number of pairs of shoes for females and males.
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Using Histograms Wisely
(pages 45-46)

Histogram vs. bar graph Histogram Bar graph
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Assignment LEARNING TARGETS
After this section, you should be able to:
.\/MAKE and INTERPRET dotplots, stemplots, and histograms
1.2 55 65 69 of quantitative data.
B ’ ’ v'IDENTIFY the shape of a distribution from a graph.
77, 80-85 v'DESCRIBE the overall pattern (shape, center, and

variability) of a distribution and IDENTIFY any major
departures from the pattern (outliers).

v'COMPARE distributions of quantitative data using dotplots,
stemplots, and histograms.
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